1 KBS OKE A
(2] dh/ARiEKY
(1) BYEF R UHE R

O JFK
£ 7K H R4.4.5 R4.5.11 R4.6.7 R4.7.5 R4.8.3 R4.9.6 R4.10.4 R4.11.9 R4.12.6 R5.1.18 R5.2.8 R5.3.7 SOUN B/ L
PN e & 5 £ = i = = = = i = i — — —
& R (©) 13.3 16.7 17.5 21.5 28.0 22.3 19.8 13.5 8.1 5.8 8.2 9.0 28.0 5.8 15.3
K R (©) 13.0 13.4 13.5 13.6 13.7 23.8 13.9 13.4 13.4 13.2 13.1 13.3 23.8 13.0 14.3
— i A (ImLH) 2 0 0 1 1 1 0 0 0 0 0 0 2 0 0
I iz (MPN/100mL) 0 0 0 0 1 0 1 0 0 0 1 0 1 0 0
BRIV AR QXZEONRAED (mg/L) — — — — — — <0.0003 — — — — — — — <0.0003
K B K O 2 O b A& W (mg/L) <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
L v kO ZE O E W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
i K O o kb A W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
E F K O o b A& W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
N ol 7 v A bk A W (mg/L) — — — — — — <0.002 — — — — — — — <0.002
fi fi fig: fe = F (mg/L) <0.004 — — <0.004 — — <0.004 — — <0.004 — — <0.004 <0.004 <0.004
T A A A e O A T v (mg/L) — — — — — — <0.001 — — — — — — — <0.001
WY OWERE O K OO R MR ORE B E (mg/L) 0.42 — — 0.42 — — 0.42 — — 0.40 — — 0.42 0.40 0.42
7 v F Kk X ZE O E WY (mg/L) <0.08 — — <0.08 — — <0.08 — — <0.08 — — <0.08 <0.08 <0.08
v F K O E O AW (mg/L) — — — — — — <0.01 — — — — — — — <0.01
by i} 1t R e (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
1,4~ Y 5 X 4 ~ (mg/L) — — — — — — <0.001 — — — — — — — <0.001
S 2A-1,2-VrunxF Lk NN T A
12- ¥ 7/ o5 o =T F L v (mg/L) - - - — — — <0.0001 — — — — — — — <0.0001
D/ - S S S SN (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
S N 5 /7 v ouw = F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
K'Y Y v om x= F Lo (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
~ v + N (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
i) ES 73 (mg/L) — — — — — — — — — — — — — — —
7 =: = e [i73 (mg/L) — — — — — — — — — — — — — — —
7 = = Z2) v A (mg/L) — — — — — — — — — — — — — — —
v 7 = = ik i (mg/L) — — — — — — — — — — — — — — —
Y 7\ E 7 v oua kA (mg/L) — — — — — — — — — — — — — — —
B e fig (mg/L) — — — — — — — — — — — — — — —
®w b U N om A s (mg/L) - - - - - - - - - - - - - - —
[ A - T - T (mg/L) — — — — — — — — — — — — — — —
7 m % ¥ 7 mou AL v (mg/L) - - - - - - - - - - - - - - -
7 1 £ 7 JL L (mg/L.) — — — — — — — — — — — — — — —
. T Y A, 2 AR < (mg/L) — — — — — — — — — — — — — — —
oo kO o b & WY (mg/L) <0.005 — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005
TNANI=U AR DZOIlEY (mg/L) — — — — — — <0.01 — — — — — — — <0.01
&k O o M B W (mg/L) <0.01 — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01
W Kk 2 o kb B B (mg/L) — — — — — — <0.01 — — — — — — — <0.01
TRV AR DRNZEDONAEWY (mg/L) — — — — — — 5.2 — — — — — — — 5.2
~ kD E O E WY (mg/L) <0.005 — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005
i) 1k ¥Y| A %+ N (mg/L) 3.3 — — 3.4 — — 3.3 — — 3.5 — — 3.5 3.3 3.4
VA RN SN Q) (mg/L) 73 — — 70 — — 69 — — 67 — — 73 67 70
7K B o e ) (mg/L) — — — — — — 111 — — — — — — — 111
= A 4 v R om & A (mg/L) - - - — — — <0.01 — - - — — — — <0.01
v - %+ 2 I e (mg/L) — — — — — — <0.000001 — — — — — — — <0.000001
2-AF VAV RNV RF — b (mg/L) - - - — — — <0.000001 — — - - — — — <0.000001
A A v Rom & A (mg/L) — — — — — — <0.005 — — — — — — — <0.005
7 - ) — JL A (mg/L) — — — — — — <0.0005 — — — — — — — <0.0005
OB W (& F R % (TOC) © & ) (mg/L) 0.1 0.1 0.1 <0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
p H fiE 7.6 7.6 7.6 7.6 7.6 7.6 7.6 7.6 7.6 7.5 7.5 7.5 7.6 7.5 7.6
% — — _ — — — _ _ _ _ _ _ _ _ _
5 £ FEL HEL B B B AL L AL AL AL B Bl — — B
&) i () <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 0.5 0.5 <0.5 <0.5 <0.5 <0.5
s 53 (F%) 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
% e i) # (mg/L) — — — — — — — — — — — — — — —




1 KBS O KE R
[2] &b/ ARk
(1) B R OFE R

@ _JUK

£ K H R4.4.5 R4.5.11 R4.6.7 R4.7.5 R4.8.3 R4.9.6 R4.10.4 R4.11.9 R4.12.6 R5.1.18 R5.2.8 R5.3.7 /) )
Ty TFEVER RZOEDY (mg/L) — — — - - — <0.0002 - - - — — — — <0.0002
v 7 v kU X O LAY (mg/L) - — — — — — <0.0002 — — — — — — — <0.0002
=y N kT EOIE W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
1,2- ¥ 7 w w = X v (mg/L) — — — - - - <0.0001 - - - — — — — <0.0001
I % - v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
THANLVEEY (- F L ~F L) (mg/L) — — — — — — <0.001 - - - — — — — <0.001
i Hi = [i%4 (mg/L) — — — - - - - - - - — — — — -
v s mum 7 & b=k L (mg/L) - — — — — — — - - - - — - - —
W ok s w5 = N (mg/L) - - - - - - - - - - - - - - -
fit X H - - — — — — <0.001 — — — — — — — <0.001
0 i % 74 (mg/L) - - - — — — 2.2 — — — — — — — 2.2
LIL,lI- vV 7 v o x X v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
AF v —t-7 F )L = — F L (MTBE) (mg/L) — = — - - — <0.0001 - - - — — — — <0.0001
RO # E (T O N ) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
B (7707 R ) — — — — — — -0.78 — — — — — — — -0.78
it & * 7= i (ImLH1) 74 87 44 22 32 22 22 180 86 94 82 44 180 22 66
,I- ¥ /7 g g = F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
NI NVATE IR ANVEREE(PFOS) K& TN

NIVINARE) 3 IR(PEOA) (mg/L) — — — — — — <0.000005 — — — — — — — <0.000005
S S < S . (MPN/100mL) — — — — — — 0 — — — — — — — 0
b % W M E = Rk & (mg/L) — — — — — — — — — — — — — — —
A Wb Ry e RO R & (mg/L) - - - - - - - - - - — — - - -
& 17 [i%4 e (mg/L) — - - - - - - - - - — — — — -
£ £ e (mg/L) — — — — — — — — — — — — — — —
s Y v (mg/L) - - - - - - - - - - - - - - -
(. A G B (mg/L) — — — — — — — — — — — — — — —
& fi% PE £k (mg/L) - - - - - - - - - - - - - - -
7 = % v = (MPN/L) — — — — — — — — — — — — — — —
4f S PE ¥ el (MPN/L) - - - - - - 10 - - - - - - - 10
N 15 | (MPN/100mL) 9 12 32 19 29 14 34 19 14 5 3 12 34 3 17
¥ M o #1 ER (MPN/100mL) — — — — — — — — — — — — — — —
7 v ® = 7 R = &k (mg/L) <0.02 — — <0.02 — — <0.02 — — <0.02 — — <0.02 <0.02 <0.02
7 b v % UN (mg/L) — — — — — — 19 — — — — — — — 19
~ Z = v % 2 (mg/L) — — — — — — 3.4 — — — — — — — 3.4
fite i A 7+ v (mg/L) 28 — — 23 — — 24 — — 24 — — 28 23 25
N S G SR (mg/L) - - - - - - - - - - - - - - -
AN = N - - A - (mg/L) — — — — — — — — — - — — — — —
o T oA J [ (mg/L) - - - - - - 49 - - - - - - - 49
i = = s = (mS/m) 17.6 17.5 16.6 16.6 16.7 16.3 16.3 16.4 16.3 16.4 16.1 16.3 17.6 16.1 16.6




1 KIE R DOKE A
[2] fh /KK
(1) FAbS K OV B AR A

s K H R4.10.4

va 7 = 7 > —_ % (mg/L) <0.0001
4 ~ YV A ) 7 m v (mg/L) <0.0001
- + ¥ ¥ 2 N 7 wmw v (mg/L) <0.0001
- ~ ~ N A = r (mg/L) <0.0001
T Y A A . % (mg/L) <0.0001
7 = 7 7 = 4 N (mg/L) <0.0001
7 v A ¥ U K R XA F (mg/L) <0.0001
v 7 = J =+ Y = (mg/L) <0.0001
>y 7 v o F = ) (mg/L) <0.0001
D4 A = A > — JL (mg/L) <0.0001
> 3 7 v F T oz v (mg/L) <0.0001
7 7 7 = - ) R (mg/L) <0.0001
- 7 A ~ X va I (mg/L) <0.0001
7 7 % * D R (mg/L) <0.0001
7 ]\ = = 7+ ' — JL (mg/L.) <0.0001
va 7 7 - J v K (mg/L) <0.0001
Y xRy = F (mg/L) <0.0001
Y A % (mg/L) <0.0001
N w7 7 = (mg/L) <0.0001
v 7 Y A g 7 o v T F g (mg/L) <0.0001
7 7 A ~ == L (mg/L) <0.0001
7 JL 7 4 7D > - (mg/L) <0.0001
R 2 7 U K (mg/L) <0.0001
7 Y % ¥ X F v B v (mg/L) <0.0001
A - = v 7 > (mg/1.) <0.0001
7 = = Es 7 (mg/L) <0.0001
v va o = N (mg/L) <0.0001
va = JL 7 = — I (mg/L) <0.0001
kv 7 o m gk A A F ) (mg/L) <0.0001
AN =T S A A = S S S ¥ (mg/L) <0.0001
= 4 - J % 7 A (mg/L) <0.0001
7 7 ¥y = A 7 v v (mg/L) <0.0001
7 JL ~ 7 = v (mg/L) <0.0001
N + ¥ JL (mg/L) <0.0004
v 7 Bk ARATF VA X I (mg/L.) <0.0001
Y 7oL -2-7 FF%F v F (mg/L) <0.0001
A D / 7 v 4 N (mg/L) <0.00006
7 ) 2z Va — b~ (mg/L) <0.02
P4 4 = N (DCMU) (mg/L) <0.0001
7 + - = = JL (mg/L) <0.000005

O JFK

£ 7K H R4.10.4

2,4-D(2,4-PA) (mg/L) <0.0001
MCPA (mg/L) <0.00005
7 v = 7 N (mg/L) <0.0001
7 + 7 - — ~ (mg/L) <0.00005
7 ~ 7 % N (mg/1.) <0.0001
7 7 v = — JL (mg/L) <0.0001
A >V ¥ va ¥ % N (mg/L) <0.00005
4 Y 7 v H 3 7  (MIPC) (mg/L) <0.0001
A4 Y 7 v F F 7 v (P (mg/L) <0.0001
A N el J 7 7 N (mg/L.) <0.00005
- N 7 = v 7 v v 7 R (mg/L) <0.0001
T A A - R I (mg/L) <0.0001
4 X v v (A B O ) (mg/L) <0.0001
B 7 =z v Ak v = Jb (mg/L) <0.00005
il i N ) I (NAC) (mg/L) <0.0001
x / J 7 D > (ACN) (mg/L) <0.00005
¥ ¥ 7 vl N (mg/L) <0.0001
7 3 JL = N (mg/L) <0.0001
J = JL = ) Z) A (mg/L) <0.00001
7 v u X v = J (TPN) (mg/L) <0.0001
Pa 7 7 P4 N (mg/L) <0.00001
Y 7 wm < = 5  (DBN) (mg/L) <0.0001
Y s w ) K A (DDVP) (mg/L) <0.00005
4 ¥ % = JL (mg/L) <0.00005
T ~ 2 N (CAT) (mg/L) <0.00001
v A 7 4 J N (mg/L) <0.00001
7 v 7 N (mg/L) <0.0002
I %+ v H JL 7 (mg/L) <0.0001
F = 7 7 x — K A F (mg/L) <0.0001
~ i 7 = = JL (mg/L.) <0.00005
K Yy rZ w A & v (DEP) (mg/L) <0.00005
b~ ) 7 JL Z ) N (mg/L) <0.0001
+ 7 i 23 3 N (mg/L) <0.0001
vy 2 T o v FF v (mg/L) <0.00001
= ) 7 7 Vi % 7 (mg/1.) <0.0001
7 = = b+ v F F o (MEP) (mg/L) <0.0001
7 = /) 7 5 v 7 (BPMC) (mg/L) <0.0001
% - N 7 7 v (MPP) (mg/L) <0.00005
7 v D Rz 2 (mg/L) <0.0001
- = D4 2 N N (mg/1.) <0.0001
7 nn ¥ a 5 = (mg/L) <0.0001
7 = t va N N (mg/L) <0.0001
~ / D % (mg/L) <0.0002
~ N v 7 = N (mg/L) <0.0001
~ N v > N (mg/L.) <0.0001
~ T 4 A x Y v (mg/L) <0.0001
R TGy (R 2T ) (mg/L) <0.0001
~ v % |2 + — ~ (mg/L) <0.0001
Ao 7 = v 7 (MCPP) (mg/L) <0.0001
A V 2 JL (mg/1.) <0.0001
A o 7 X v JL (mg/L) <0.0001
A - = = % (mg/L) <0.0001
A4 J % % F *F v F F J v (mg/L) <0.00001
A A Y A - A (mg/L) <0.00001
MPP 2 L 7z X 4 N (mg/1.) <0.00005
MPP 2 JL 7 N (mg/L) <0.00005
MPP *+ & >V N (mg/L) <0.00005
MPP # % YV v Z2 )L &K ¥ ¥ R (mg/L) <0.00005
MPP 4+ % Y v X )b K v (mg/L) <0.00005
7 % I K A F X Vv (mg/1.) <0.0001
7 + v D 7 ) N (mg/L) <0.0001
A4 I X 7 A K (mg/1.) <0.0001




1 KBS OKE A

(2] dh/ARiEKY

(1) BYEF R UHIE R

@ ok

£ 7K H R4.4.5 R4.5.11 R4.6.7 R4.7.5 R4.8.3 R4.9.6 R4.10.4 R4.11.9 R4.12.6 R5.1.18 R5.2.8 R5.3.7 SOUN B/ L
X e & 5 £ = i = = [l = il = & - - -
& R (©) 13.2 16.5 17.0 22.4 28.6 23.9 21.1 13.2 8.1 5.8 8.4 9.3 28.6 5.8 15.6
K R (©) 13.0 13.8 13.9 13.9 14.1 24.2 13.9 13.9 13.6 13.6 13.5 13.7 24.2 13.0 14.6
— i i (1mLH) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
I iz (MPN/100mL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
HEIT ALK RZEOIREWY (mg/L) — — — — — — <0.0003 — — — — — — — <0.0003
K Kk O F o &b A W (mg/L) — — — — — — <0.00005 — — — — — — — <0.00005
L v kO ZE O E W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
w k O x o b A& W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
E F K O o b A& W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
N oM 7 om A b A W (mg/L) — — — — — — <0.002 — — — — — — — <0.002
fi fi fig: fe = F (mg/L) <0.004 — — <0.004 — — <0.004 — — <0.004 — — <0.004 <0.004 <0.004
T A A A e O A T v (mg/L) — — — — — — <0.001 — — — — — — — <0.001
WY OWERE O K OO R MR ORE B E (mg/L) 0.41 — — 0.41 — — 0.43 — — 0.40 — — 0.43 0.40 0.41
7 v EF kK O FE 0O AW (mg/L) <0.08 — — <0.08 — — <0.08 — — <0.08 — — <0.08 <0.08 <0.08
v F K O E O AW (mg/L) — — — — — — <0.01 — — — — — — — <0.01
by i} e R e (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
1,4~ D 5 s 4 e (mg/L) — — — — — — <0.001 — — — — — — — <0.001
S 2A-1,2-VrunxF Lk NN T A
12- ¥ 7/ o5 o =T F L v (mg/L) - - - — — — <0.0001 — — — — — — — <0.0001
D/ - S S S SN (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
S N 5 /7 v ouw = F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
K'Y ry v owm o x= F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
~ v + N (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
i) F 73 (mg/L) <0.06 — — <0.06 — — <0.06 — — <0.06 — — <0.06 <0.06 <0.06
7 a = WE [i73 (mg/L) — — — — — — <0.002 — — — — — — — <0.002
V4 = = R JL 2 (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
v 4 = = HE {73 (mg/L) — — — — — — <0.002 — — — — — — — <0.002
Y 7 v ® 7 v owa A K v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
5 e fig (mg/L) — — — — — — <0.001 — — — — — — — <0.001
wmor U oo m A H (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
[ A = =2 (mg/L) — — — — — — <0.002 — — — — — — — <0.002
7 v ® ¥V 7 v ou A K v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
7 = * ) JL A (mg/1.) — — — — — — <0.0001 — — — — — — — <0.0001
X v oA 7 A F v K (mg/L) — — — — — — <0.002 — — — — — — — <0.002
o &K O F 0o b A& W (mg/L) <0.005 — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005
TILVI=g Ak OXZF DOl EW (mg/L) — — — — — — <0.01 — — — — — — — <0.01
% X O o b A& W (mg/L) <0.01 — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01
g K O = o kb A& W (mg/L) — — — — — — <0.01 — — — — — — — <0.01
T hrID LR D ZEDIEWY (mg/L) — — — — — — 5.1 - _ _ — _ _ — 51
~ v H kD E O E W (mg/L) <0.005 — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005
i) 1k Y A %+ N (mg/L) 3.6 — — 3.5 — — 3.5 — — 3.5 — — 3.6 3.5 3.5
HIV TN 2T R N () (mg/L) 66 — — 65 — — 65 — — 66 — — 66 65 66
7K B o e W (mg/L) — — — — — — 109 — — — — — — — 109
= A 4 v R om & A (mg/L) - - - — — — <0.01 — - - — — — — <0.01
v - %+ 2 I Ve (mg/L) — — — — — — <0.000001 — — — — — — — <0.000001
2= A F L A4V KR )L R F — b (mg/L) — — — — — — <0.000001 — — — — — — — <0.000001
A4 A v Fom iE A (mg/L) - - <0.005 — - — — — — <0.005
7 - ) — JL ¥ (mg/L) — — — — — — <0.0005 — — — — — — — <0.0005
OB W (& F R % (TOC) © & ) (mg/L) 0.1 0.1 0.1 <0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1

p H fiE 7.7 7.7 7.7 7.7 7.7 7.7 7.7 7.7 7.7 7.7 7.7 7.7 7.7 7.7 7.7

S HEL HERL FERL FHERL HERL HERL HEL HERL HERL HERL Bl HERL — — FHERL

5 £ Bl FERL FHERL B FHERL L L B B AL FERL Bl — — Bl
&) i () <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 0.5 0.5 <0.5 <0.5 <0.5 <0.5
s 53 (F%) 0.1 0.1 0.1 0.1 <0.1 <0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
% o oy e (mg/L.) 0.3 0.2 0.2 0.3 0.2 0.2 0.2 0.2 0.3 0.2 0.3 0.3 0.3 0.2 0.2
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£ 7K H R4.4.5 R4.5.11 R4.6.7 R4.7.5 R4.8.3 R4.9.6 R4.10.4 R4.11.9 R4.12.6 R5.1.18 R5.2.8 R5.3.7 /) L)

T FE R RXEONEW (mg/L) — — — — — — <0.0002 — — — — — — — <0.0002
v 7 v kW E O EAE W (mg/L) — — — — — — <0.0002 — — — — — — — <0.0002
=X kX ZE O AEWD (mg/L) — — — — — — <0.001 — — — — — — — <0.001
12- ¥ 7 w nu == X v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
k JL T > (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
THENLEY (- F L ~F L) (mg/L) — — — — — — <0.001 — — — — — — — <0.001
i o) ES 73 (mg/L) — — — — — — <0.06 — — — — — — — <0.06
Y /s mua 7 ¥ F = KU L (mg/L) — — — — — — <0.001 — — — — — — — <0.001
woook v v 5 — (mg/L) — — — — — — <0.001 — — — — — — — <0.001
fit X H - - — — — — <0.001 — — — — — — — <0.001
0 i % 74 (mg/L) - - - - - — 1.8 — - - — — — — 1.8
IL,I- ~ YV 7 v oo x X v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
AF )L —t- 7 F )L —F )L (MTBE) (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
B & M % (T O N ) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
B R (7 )T ) — — — — — — -0.70 — — — — — — — -0.70
{08 & g # Al (ImLH) 1 0 4 0 17 0 3 0 0 2 4 0 17 0 3
11- ¥ 7 B8 g = F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
NVT VA A AV FE(PFOS) M Y

NNV VARE A ER(PFOA) (mg/L) — — — — — — <0.000005 — — — — — — — <0.000005
o3 & P EE il (MPN/100mL.) — — — — — — — — — — — — — — —
b % 8 B F B Rk = (mg/L) — — — — — — — — — — — — — — —
A Wik TR OB OFEOE K& (mg/L) — — — — — — — — — — — — — — —
s 17 173 # (mg/L) — — — — — — — — — — — — — — —
£ = # (mg/L) — — — — — — — — — — — — — — —
£ Y % (mg/L) - - - - - - - - - - - - - - -
. S - S R B (mg/L) — — — — — — — — — — — — — — —
bR it P & (mg/L) — — — — — — — — — — — — — — —
v - JL S 2 (MPN/L) — — — — — — — — — — — — — — —
VS S S (MPN/L) - - - - - - 0 - - - - - - - 0
X 7 | (MPN/100mL) — — — — — — — — — — — — — — —
¥ OOfFE P g ER (MPN/100mL) — — — — — — — — — — — — — — —
7 v ®F = T B = # (mg/L) — — — — — — — — — — — — — — —
7 L v v A (mg/L) — — — - - - 18 - — - — — — — 18
< 7 x v % A (mg/L) — — — — - - 3.4 - - - — — — — 3.4
it %3 A %+ g (mg/L) 22 — — 21 — — 21 — — 22 - - 22 21 22
N S G SR (mg/L) - - - - - - - - - - - - - - -
A= N - A (mg/L) — — — — — — — — — — — — — — —
a 7 v H ) i (mg/L) — — — — — — 49 — — - — — — — 49
5 2 I H R (mS/m) 16.5 16.5 16.2 16.2 16.2 16.0 15.9 15.8 16.0 16.2 15.8 16.0 16.5 15.8 16.1




1 KIE R DOKE A
[2] fh /KK
(1) FAbS K OV B AR A

s K H R4.10.4

va 7 = 7 > —_ % (mg/L) <0.0001
4 ~ YV A ) 7 m v (mg/L) <0.0001
- + ¥ ¥ 2 N 7 wmw v (mg/L) <0.0001
- ~ ~ N A = r (mg/L) <0.0001
T Y A A . % (mg/L) <0.0001
7 = 7 7 = 4 N (mg/L) <0.0001
7 v A ¥ U K R XA F (mg/L) <0.0001
v 7 = J =+ Y = (mg/L) <0.0001
>y 7 v o F = ) (mg/L) <0.0001
D4 A = A > — JL (mg/L) <0.0001
> 3 7 v F T oz v (mg/L) <0.0001
7 7 7 = - ) R (mg/L) <0.0001
- 7 A ~ X va I (mg/L) <0.0001
7 7 % * D R (mg/L) <0.0001
7 ]\ = = 7+ ' — JL (mg/L.) <0.0001
va 7 7 - J v K (mg/L) <0.0001
Y xRy = F (mg/L) <0.0001
Y A % (mg/L) <0.0001
N w7 7 = (mg/L) <0.0001
v 7 Y A g 7 o v T F g (mg/L) <0.0001
7 7 A ~ == L (mg/L) <0.0001
7 JL 7 4 7D > - (mg/L) <0.0001
R 2 7 U K (mg/L) <0.0001
7 Y % ¥ X F v B v (mg/L) <0.0001
A - = v 7 > (mg/1.) <0.0001
7 = = Es 7 (mg/L) <0.0001
v va o = N (mg/L) <0.0001
va = JL 7 = — I (mg/L) <0.0001
kv 7 o m gk A A F ) (mg/L) <0.0001
AN =T S A A = S S S ¥ (mg/L) <0.0001
= 4 - J % 7 A (mg/L) <0.0001
7 7 ¥y = A 7 v v (mg/L) <0.0001
7 JL ~ 7 = v (mg/L) <0.0001
N + ¥ JL (mg/L) <0.0004
v 7 Bk ARATF VA X I (mg/L.) <0.0001
Y 7oL -2-7 FF%F v F (mg/L) <0.0001
A D / 7 v 4 N (mg/L) <0.00006
7 ) 2z Va — b~ (mg/L) <0.02
P4 4 = N (DCMU) (mg/L) <0.0001
7 + - = = JL (mg/L) <0.000005

@ Kk

£ 7K H R4.10.4

2,4-D(2,4-PA) (mg/L) <0.0001
MCPA (mg/L) <0.00005
7 v = 7 N (mg/L) <0.0001
7 + 7 - — ~ (mg/L) <0.00005
7 ~ 7 % N (mg/1.) <0.0001
7 7 v = — JL (mg/L) <0.0001
A >V ¥ va ¥ % N (mg/L) <0.00005
4 Y 7 v H 3 7  (MIPC) (mg/L) <0.0001
A4 Y 7 v F F 7 v (P (mg/L) <0.0001
A N el J 7 7 N (mg/L.) <0.00005
- N 7 = v 7 v v 7 R (mg/L) <0.0001
T A A - R I (mg/L) <0.0001
4 X v v (A B O ) (mg/L) <0.0001
B 7 =z v Ak v = Jb (mg/L) <0.00005
il i N ) I (NAC) (mg/L) <0.0001
x / J 7 D > (ACN) (mg/L) <0.00005
¥ ¥ 7 vl N (mg/L) <0.0001
7 3 JL = N (mg/L) <0.0001
J = JL = ) Z) A (mg/L) <0.00001
7 v u X v = J (TPN) (mg/L) <0.0001
Pa 7 7 P4 N (mg/L) <0.00001
Y 7 wm < = 5  (DBN) (mg/L) <0.0001
Y s w ) K A (DDVP) (mg/L) <0.00005
4 ¥ % = JL (mg/L) <0.00005
T ~ 2 N (CAT) (mg/L) <0.00001
v A 7 4 J N (mg/L) <0.00001
7 v 7 N (mg/L) <0.0002
I %+ v H JL 7 (mg/L) <0.0001
F = 7 7 x — K A F (mg/L) <0.0001
~ i 7 = = JL (mg/L.) <0.00005
K Yy rZ w A & v (DEP) (mg/L) <0.00005
b~ ) 7 JL Z ) N (mg/L) <0.0001
+ 7 i 23 3 N (mg/L) <0.0001
vy 2 T o v FF v (mg/L) <0.00001
= ) 7 7 Vi % 7 (mg/1.) <0.0001
7 = = b+ v F F o (MEP) (mg/L) <0.0001
7 = /) 7 5 v 7 (BPMC) (mg/L) <0.0001
% - N 7 7 v (MPP) (mg/L) <0.00005
7 v D Rz 2 (mg/L) <0.0001
- = D4 2 N N (mg/1.) <0.0001
7 nn ¥ a 5 = (mg/L) <0.0001
7 = t va N N (mg/L) <0.0001
~ / D % (mg/L) <0.0002
~ N v 7 = N (mg/L) <0.0001
~ N v > N (mg/L.) <0.0001
~ T 4 A x Y v (mg/L) <0.0001
R TGy (R 2T ) (mg/L) <0.0001
~ v % |2 + — ~ (mg/L) <0.0001
Ao 7 = v 7 (MCPP) (mg/L) <0.0001
A V 2 JL (mg/1.) <0.0001
A o 7 X v JL (mg/L) <0.0001
A - = = % (mg/L) <0.0001
A4 J % % F *F v F F J v (mg/L) <0.00001
A A Y A - A (mg/L) <0.00001
MPP 2 L 7z X 4 N (mg/1.) <0.00005
MPP 2 JL 7 N (mg/L) <0.00005
MPP *+ & >V N (mg/L) <0.00005
MPP # % YV v Z2 )L &K ¥ ¥ R (mg/L) <0.00005
MPP 4+ % Y v X )b K v (mg/L) <0.00005
7 % I K A F X Vv (mg/1.) <0.0001
7 + v D 7 ) N (mg/L) <0.0001
A4 I X 7 A K (mg/1.) <0.0001




